Titrati()n Of IrOH(II) With POtaSSium Permanganate Watch a video tutorial about this at:

www.chemistry.jamesmungall.co.uk

Find the concentration of an iron(ll) sulphate solution, given that 25.0cm? of the solution,
when acidified, required 19.8cm? of 0.0200moldm- potassium manganate(VII) for oxidation.

19.8cm3 0.02M KMnO,(aq)

=19.8 x0.02 /1000
= 3.96 x 104 moles

Equation MnO, + 5 Fe?* + 8 H* —#= Mn2* + 5 Fe3* + 4 H,0
Ratio 1:5 1:5

Moles 3.96 x 10 : 5x3.96 x 10
=1.98x 103 |

25cm3 Fe(I1)SO, (aq)
\unknown concentration
1.98 x 103 moles in 25cm3

concentration = moles / volume

1.98 x 10
(25/1000)

=7.92 x 102 moldm-3
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